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(1) Total Marks is Given in the Opposite side of question.
(2) Draw neat and Labelled diagram where necessary.

Total Marks:70

Q.1 Muttiple Choice questions. 10

{1) Which group does Lamprey belong to
(a) Tetrapoda (b) Pisces (c) Agnatha (d) Gnathostomata
(2} Anticoagulant in Lamprey is secreted by
(a) Mucus gland {b) goblet cells (c) salivary gland {d) zymogen cells
(3) Seahorse Exhibiting Parental care by ‘
{a) coiling the body (b} In the mouth {c} Brood pouch {d) None of these
(4) coils her body around eggs. :
(a) Frog (b} Toad (c} Hyla {d) Ichthyophis
(5) Feathers are absent in adult Pigeon.
(a) Contour (b) Filoplumes {c) Down (d} None of these
(6) The habit of eating its own faeces in Rabbit is known as
{a) Omnivorous (b) Carnivorous (c) Coprophagous {d) None of these
{7) Ptyalin Enzymes is Present in .
(a) Gastric juice (b) Bile juice (c} Saliva (d) None of these
{8) Blood volume in Male (adult) is liters.
(a) 5-6 (b) 2-3 (c) 3-4 {d) 4-5
(9) Red Blood cells {RBCs) live only about days.
{a) 220 (b) 303 (c} 115 {d) 120
(10) The Process take place in Bowman’s capsdle is .
(a) Reabsorption (b) Absorption (c) Secretion {d} Ultrafiltration
Q.2 {a) Fill in the Bank
(1) Pair of gills present in Lamprey. .
(2} fish lay their fertilized eggs in Mermaid’s Purses.
(3} A Rabbit tail actsasa during Locomation.
(4) A kidney weights about grams in humans.
(b} The following Sentences are true or false.
(1) Eel is the best examples of Catadromous migration.
(2) Rhacophorus Schlegeli is a Japanese tree frog.
{3) Rabbits have a Canine type tooth.
(4) WBCs count decreases during any type of stress in humans.
Q.3 Answer the following Question (Any ten).
(1} Draw a labelled diagram of Lamprey.
(2} Explain Placoid Scales of fish.
(3) What is Ovoviviparity in Amphibians.
(4) Define Neoteny.
{5) Explain Parental care in stickle back fish.
{6) Name the type of feathers found in Birds.
{7) Enlist the digestive gland in Rabbit.
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(8) State the function of Tounge of Rabhit.
(9) What is function of Bile juice of Rabbit.
(10} Give a Composition of Blood.
(11) Give the structure and function of haemoglobin.
(12} Give a function of Lymphocytes of White Blood cells.
Q.4 Answer any four questions of the following eight questions.
(1} Describe the dammocoete larva of Lamprey
(2} Describe Scales of fishes.
(3} Describe  the direct caring paternal care found in amphibians,
(4) Write a brief note on flight adaptation of birds.
(5) Describe the digestive system of Rabbit.
(6) Describe the internal structure of heart in Rabbit.
(7} Explain general function of Blood.
(8) Expiain physiology of urine formation.
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